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INupomerarm

[lony4yeHue metannoB U3 pya
AHOBJIEHUEM.
BoccTtaHoBUuTenu:

Yrnepoa

« PhO+C=Pb+CO
(kokce)

Okcup N =
yrnepona (Il) Fe,0,; + 3CO = 2Fe + 3CO,

Boaopon *‘MnQO, + 2H, = Mn +2H,0

amsaot:‘:l: Me F,0,* 2A1 = 2Fe + ALO,




JrneKrpomMera

HeHUnEe MeTarnJoB JJi€

ENELL I » 2NaCl = 2Na + Cl,1

LSz« 2CuSO,+2H,0=Cu + 0,1+ 2H,SO0,
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C NpocThIMU BelLeCTEaANMBRIEe MeTariiaMl

C Boaoponom « 2Na + H, = 2NaH
- TS
C ranoreHamu - 2Fe + 3Cl, = 2FeCl,
N
C kucnopogom - 3Fe + 20, = Fe;0,(FeO-Fe,0,)
. - TS
C cepou «Zn+S =2ZnS
N a3
C asorom « 6Li + 3N, = 2Li;N
- - T
3
.

C docchopom - 3Ca + 2P = Ca,P,

C yrneponom - 4Al + 3C = Al,C,
- -
C kpemHuem « 2Mg + Si = Mg,Si
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no Mg * Wenoub + H,1

or Mg noH,,t* -+ Okcup +H,

3aH, * He pearupytor

2K + 2H20
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Zn + 2HC| =
2! + 3H,S0, = A

Cl¥
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MeTann BbIiTeCHAeT
npeabLIAYWUA
. N

CuSO + Fe = FeSO, + Cu
Hqg(N 31,-I-Cu Cu(mﬂ2 Hg
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